EARAROBREBRT —5 XN—ZXBISH—F 202338168 () 5SEIiEES3H

I C3= YS5R4mt B
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
ERER 134, -8-5- . - aAR»S (EH)
14 Ta—Fr—T4 B4 B 1(3_4)0 8-8-5-5 | 39.1 2 :1_337) %Eﬁﬁ
RiVELIA— B:Ta—Fvr—FAL RELIS
34— 4 5 | SNEE 1:34.0 3-3-2-2 [39.6| — 1 483 | REHRE (FEkR)
21717 | PRITXI v 56.0 NF) 4y | PRI
RiW—=5—yvF B:AUFvtEIYR RIFERHBUS
=5 =~ i 5 | NEEF 1:34.1 1-1-1-1 [ 40.1] — 9 450 | KBE= (EH)
3Bl 2|37V —FY 54.0 34 @) |8 FoLERZMEE
R:iSTU—FoA B:EY/NRF4—1 FAVEYRT7—L
4 8 | EZHEX 1:34.2 6-6-4-4 [39.6| — 3 449 | EEshiE (EH)
4|7|8|>*0A 5.0 @) o) | BT
R:/ITUZS B:7UFIN (B) t&I—-RU—y3vEET 7
< 9 | HE®K 1:34.7 2-2-3-3 | 40.6| — 4 | 479 |AWWIEtE (EH)
5189 |ONYTL—R e 54.0 ?) 1) | 0 TKK
R:gOd7=x B:7ZRIAMPIN-K BEXERUS
g5 — ft o4 | BHEE= 1:34.8 9-9-7-8 [39.6| — 7 | 444 |FRIRR (BH)
6 31¥a1—=YT39 54.0 (3/4) () |ERAEEE
R:/ITUZAN B:Ta—)LTU—U— BHE
»— 8 | HAKit 1:35.3 10-10-10-10 39.7 | — 6 485 | =EBEZ (BH)
7 6| =TI * 5.0 ?3) ) | @ Tr—2hET3v
RN=RZNY B:AVRU—XOF 70— F—U— - Iv I\ - T7—LBRR
o= — N JERERIE : -4-7- . - 78| &t (R|)
8|55 O0—FR314 =T L 56.0 1('33/54')4 AR ° (‘15:) IGESA
R:O—RAFO7 S:IVITUvILA TATAT7—L
» < AUEE :35. ~5-5- . - AW (FafR)
9l8l10l 7Y rorUR 44 gl 1(335)9 4-5-5-7 | 41.2 8 ig;) uEs
RFVVY/FEF BiYrAZVIE1— Rt
3 # 4 | IREFR 1:36.0 7-7-9-9 | 40.9| - 10 | 391 |@EASTE (EH)
101]1(7Y79z—7 54.0 72 e
Ri/ITURN B:9TIVAZVT A%
@ 11— —BERIEI
13—7F— 2,9,7,(5,10),8,1,4,3,6
20— — 2,9,7,5,10,8,1,4,3,6
IT=5r= 2,7,9.,8,(4,10), (3,5),1,6
40—F— 2,7,9,8,4,5,10,3,1,6
o ILRE
BB 4 680M3 JA R 4-7 250/ & 4-7 350 3ER 2-4-7 8,510
B B 4 190 2-4 4,460 5 & 4-7 450 3Es 4-7-2 51,120/
7 110/ 2-7 2,060 oS- 1 4-7 1,510
2 760

ABIC OV TRUTEREERRODDZE. THRIIZEL.



